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B.A. Honours 6th Semester Examination, 2024

DSE-P3-SANSKRIT (603)

Time Allotted: 2 Hours

The figures in the margin indicate full marks.

The question paper contains DSE-3A and DSE-3B.

Full Marks: 60

Candidates are required to answer any one from the #wo papers and they should

mention it clearly on the Answer Book.

DSE-3A
1. pAIAT SRR & F4l: T ST Med ] —

12x2 =24

() SRR G HermTad- R SRR JTered Ty sy S8 AR |

(@) AN ST Giewfaar faRor e |
() TSR TR HSIRSICT, Sed - STl |

2. HEFTASIT SAAFRICTeT ¥ Yapvy AT hTa —
(@) DIct DIeTITRhI TaraTioT TEieger |
GReT: TR, et S fawam== Il

() T RO Fied FeaeieHe |
TR & NI A1 SRlchahIeT Il

3. AT SIS © 3T H: (Far) —

(@) amehifag TR e |
TG AfdeId SRIFE Fd: Il

(@) |rsreaTg eRRI Fare] Rgeggffaer: s |
37T T TG ArGE T RTe I
() O T AR BT P T |

SIESGREEEIREE e i I

4. SEpAISIT SFARRICTT o fevault g (FTguify) —
e, AU, e, TSRHETEI, Tredier:, TR, gl |
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6x1 =6

6x2 =12

3x4 =12
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5. oI TR guor SR e — 1x6 =6

() T T & ?

(RF) Do BIf 2

() RIS, AT ST ?

(1) TS BT FIRT: 7 2

(®) SRR Ty e AT ST AR ?

(=) A g g ad-prer ?

(B) T GET: SATAIT: & ?

() TRAIESREITT & SATfaals e ?

(37) ¥ TG STBRAITIR: 2

DSE-3B
Unit-I
1. A SARRIor ° Y Yo — 12x1=12
(@) Rrfa-RRugdmermTe TR: Sue: e
(@) R QIO T TrRAETS- eI Sifetoaary |

2. TEITT STEFTITSaT I SATS: H: (F1)— 3x2=6
fores e SRer gy <Toull faee It
(@) I RERY TRy ATSCa |
STTeHa A I TRafy wafsa: |
() = frafyeny Rl 7 Rreaf |
I ARG TRATeRe I

3. SISl SR ¥ Y STET SR — 6x1=6
() I PR W = T e
IR PAITT FHATTETT RS e |l

() TR IO T A< |
R eruifRrea Ry eI or: I

4, EEHATIT TR FUOTT HRHN Y — 16 = 6
(@) Piger g e Tafer ?
(@) fenfh ey ?
() & | TgaT: 7
(&) AT SUI: B ?
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() BY ey 7 Feie: 2

(@) “fRauRer:” SRy IRy TRIdR: &t 2
(B) T F=por sy oA ?
(ST) EEioTT A BIF 2

Unit-1I
5. EEpQITAT STRAfeTeaT YA e — 12x1 = 12
() TSETRTtIG Rig-2rerhae Taredar |
(@) YT NS qep-ahe el TTHISIT ST |

6. AT ATEAITAT T JATS: PY: (7)) — 3x2 =6
() SRIERY T T TR R £l R |
RGRIFY SER T I & W ||
(F) JORY TRYSArST TSI TR |
TR TSI < T g g |

(T) SFIRY IR IY 7R: B esh |
9 (g fer arfy Hraquieia aeR: |l

7. SEHAUTHIT AT o Thvy SHReaT i — 6x1=6
(@) 38 ARy 2 afFmT TRYsf TaoR |
OIS SRS HEaT oI
(@) WRrar g ar ey Ty ar TR
2 T Rt T, T G |l

8.  EEPOINAT ITATITRIT & §oor SRR Haa — 1x6=6
(@) Tliadp: & ? ‘
(T@) T=aaqA il PeT: Fied ?
(T). “Tetaui-2TIeRed AT fo 2
(¥1) T TR AR UISTT ?
(S) ‘ST SRT ATTBRORT HRY &5 ?
() e Rt s <fRaT 2
(B) fagore: dg 9 ?
() P AT FRHTH IR ?
() TR RIS 9 Al ?

X
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